
  

 

 

 

 

 

 

PART A — (5 × 3 = 15 marks) 

Answer ALL questions. 

Each answer should not exceed 100 words. 

Each answer carries 3 marks. 

1. Give two examples for null hypothesis. 

 Cßø©U P¸x÷PõÐUS C¸ GkzxUPõmkPÒ u¸P. 

2. Differentiate longitudinal approach from cross sectional 

approach. 

 }sh Põ» AqS•øÓø¯ SÖUS öÁmk AqS 
•øÓ°¼¸¢x ÷ÁÖ£kzxP. 

3. Mention the steps in preparing a diagnostic test. 

 SøÓ¯Ô ÷uºÁõ´Ä u¯õ›¨£v¾ÒÍ £iPøÍU SÔ¨¤kP. 

4. How will you draw a histogram? 

 J¸ {PÌöÁs ö\ÆÁP Áøµ¨£hzøu GÆÁõÖ ÁøµÃº. 

5. Find out the range of the following data : 

 60, 72, 80, 63, 45, 56, 35. 

 RÌUPsh ÂÁµzvß Ãa_ Psk¤iUPÄ®. 

 60, 72, 80, 63, 45, 56, 35. 
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PART B — (8 × 5 = 40 marks) 

Answer any EIGHT questions. 

Each answer should not exceed 200 words. 

Each answer carries 15 marks. 

6. What are the problems in doing Educational Research? 

 PÀÂ°¯À Bµõ´a] ÷©ØöPõÒÐÁvÀ EÒÍ ¤µa\øÚPÒ 
¯õøÁ? 

7. Explain any two non-probability sampling techniques. 

 \©Áõ´¨£ØÓ ©õv›TöÓkzuÀ EzvPÒ H÷uÝ® CµsiøÚ 
ÂÍUSP. 

8. Describe the steps in Historical method. 

 Áµ»õØÖ B´Ä •øÓ°ß £iPøÍ ÂÁ›UPÄ®. 

9. Distinguish between Thurstone and Likert scales. 

 uºéhß ©ØÖ® ¼UPºm AÍÄ÷PõÀPøÍ ÷ÁÖ£kzxP. 

10. Prepare a check list to find out the facilities in  

B.Ed. Colleges. 

 PÀÂ°¯À PÀ¿›PÎÀ EÒÍ Á\vPøÍU PshÔ¯ EuÄ® 
\›£õº¨¦¨ £mi¯À JßøÓz u¯õº ö\´P. 

11. Discuss the different methods in establishing the 

reliability of a research tool. 

 Kº B´ÄU P¸Â°ß |®£Pzußø© Põn EuÄ® £À÷ÁÖ 
•øÓPøÍ ÂÁõvUPÄ®. 

12. Explain the steps in item analysis. 

 E¸¨£i £S¨£õ´Âß £i{ø»PøÍ ÂÍUSP. 

13. What are the chapters found in a research report? What 

are the information provided in each chapter? 

 B´ÁÔUøP°À Põn¨£k® Azv¯õ¯[PÒ ¯õøÁ? 
JÆöÁõ¸ Azv¯õ¯zv¾® öPõkUP¨£k® ÂÁµ[PÒ 
¯õøÁ? 

14. Write a frequency distribution and draw a frequency 

polygon for that. 

 {PÌöÁs £µÁÀ JßÔøÚ GÊv AuØPõÚ {PÌöÁs 
£»÷Põn® ÁøµP. 
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15. Calculate mean and median for the following data : 

 42, 46, 30, 37, 29, 41, 50, 31, 39, 43. 

 RÌUPsh ÂÁµzvØS Tmk \µõ\› ©ØÖ® Cøh{ø» 
PnUQkP. 

 42, 46, 30, 37, 29, 41, 50, 31, 39, 43. 

16. The ranks obtained by five students in two subjects are 

given below. Compute the co-efficient of correlation. 
Students Rank in subject 1 Rank in subject 2 

A 5 1 

B 4 2 

C 3 3 

D 2 4 

E 1 5 

 I¢x ©õnÁºPÒ C¸ £õh[PÎÀ ö£ØÖÒÍ uµÁ›ø\ R÷Ç 
öPõkUP¨£mkÒÍx. Ehßöuõhº¦U öPÊÂß ©v¨¤øÚU 
PnUQkP. 

©õnÁºPÒ •uÀ£õh uµ Á›ø\ Cµshõ® £õh uµ Á›ø\ 

A 5 1 

B 4 2 

C 3 3 

D 2 4 

E 1 5 

17. List the properties of normal distribution. 

 C¯À{ø» £µÁ¼ß £s¦PøÍ Á›ø\¨£kzxP. 

PART C — (3 × 15 = 45 marks) 

Answer ALL questions. 

Each answer should not exceed 1200 words. 

Each answer carries 15 marks. 

18. (a) Select a research problem and prepare a research 

proposal. 

  B´Ä¨ ¤µa\øÚ JßøÓz ÷uºÄ ö\´x AuØPõÚ 
B´Ä •ß vmh® u¯õº ö\´P. 

Or 

 (b) Explain the following research methods : 

  (i) Survey method. 

  (ii) Experimental method. 

  (iii) Case study. 
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   RÌUPsh B´Ä •øÓPøÍ ÂÍUSP. 
  (i) PÍ B´Ä. 
  (ii) £›÷\õuøÚ •øÓ. 
  (iii) uÛ A»S B´Ä. 
19. (a) Describe the steps involved in the construction of an 

achievement tests. 

  AøhÄz ÷uºøÁ Aø©¨£v¾ÒÍ £iPøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) Discuss the important points to be kept in mind 

while preparing a research report. 

  B´ÁÔUøP u¯õº ö\´²® ÷£õx PÁÚzvÀ öPõÒÍ 
÷Ási¯ •UQ¯ Âå¯[PÒ £ØÔ ÂÁõvUPÄ®. 

20. (a) Find out the correlation coefficient for the following 

data using Pearson’s product moment method. 

Interpret the value. 
X : 45 55 56 58 60 65 68 70 75 80 85 

Y : 56 50 48 60 62 64 65 70 74 82 90 

  RÌUPsh ÂÁµzvØS ¤¯º\ß Ehßöuõhº¦U öPÊ 
©v¨¤øÚU Psk¤iUPÄ®. ©v¨¤ØPõÚ ÂÍUP® 
TÖP. 

X : 45 55 56 58 60 65 68 70 75 80 85 

Y : 56 50 48 60 62 64 65 70 74 82 90 

Or 

 (b) Find out the ‘t – value’ for the following data and 

explain the significance. 
 Group 1 Group 2 

Mean 53.2 49.8 

S.D. 7.4 6.5 

N 20 20 

r 0.6 

  RÌUPsh ÂÁµ[PÐUS ‘t&©v¨ø£U’ Psk¤iUPÄ®, 
Auß •UQ¯zxÁzøu ÂÍUSP. 

 SÊ 1 SÊ 2 

\µõ\› (M) 53.2 49.8 

vmh Â»UP® (S.D.) 7.4 6.5 

GsoUøP (N) 20 20 

r 0.6 

 ——————— 


